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PRECALCULUS REVIEW FOR TEST 4.1 — 4.4 DAY 2

Name: KE'-! Period: ____

1. Convert-160°to radian measure. —=[(0°, T — =17~ | @1T
oA 4

2. Convert 'z to degree measure
. R .
10 ', 188° — 7(/8) = 72¢°

A0 AT

3. Convert =220°56'15" to decimal degree form.

-2209375 °

4. Find the quadrant that contains the terminal side of an angle in standard position with measure 265°.

Quad rant TIC .
190 o
5. Find the exact value of the six trigonometric functions for 1 = % . 270°
Csce =2
—2 13
o BB RP
Coto=|-53
6. Find the exact value of the six trigonometric functions for ¢ =% and /= 3?”
(0))) ysing = -§65co= l Y5 == Cseo= -1
X 59 Z0 i S0 undet Y6059 SO0  Sc0= unded
3 Tne =% ot | 0N Yo=Yy eoros o
= unde e = undef
7. Evaluate the six trigonometric functions for 7 = _2?;: to 4 decimal places. CALCULATORI!I |
Sin gz -.L¥28  (58° T, =~15587 ¥ Radian mode |
Cos 97 7U0 5¢C 9> Fzp= h30SY

Tan 97 839 g, p= A = =198

8. Evaluate the six trigon i ions for r=ﬂ€°'io4decimal places. CALCULATORIN dfﬁft’( moole
singee® = -.3420|  ese(3409= S s ~12.9238
Cos 34o° = | 19347 secl 3%0D= . — = 5, 0L42

o = Cosl 3ve*

- 7475

2 =
Fan( 340°)
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PRECALCULUS REVIEW FOR TEST 4.1 — 4.4 DAY 2

9. Convert 135.240° to D°M'S" form (to the nearest second) CALCULATOR!!!!

6?4+ b%= 20"
135°19' 2%

b*=3¢Y
s b= I3
b= ad
20

. - B
1.
a) 0="" © b) 6=-215°
15
P AC 0 -1% ) o
0'=15Tr_gw - [Z Q'=215°-1%°

12. Find the point (x, ) on the unit circle which corresponds to the real number 7 = ?7” Include sketch.

X Sketch angle

¥ Sketch Reference hgle + A 0=2=3" 5o
¥ FInd SideS . _ a1 ..,,
¥ + by 2 o make radius =1 (-2 -1) _J
137 ) - "2'
13. Sketch the angle e in standard position. - - \%
Give one positive and one negative coterminal angle (in terms of ).
T MuLDPLES oF 2T
-1 o1 = - BT — |sr
n 9 Tl 9T = ET+S 9
..13_q!'_l‘ -3 -2 = - _LgJT:. T
14. The point (3, -2) is on the terminal side of an angle in S.P. (standard position). v 2
Find the exact values of the 6 triaonometric functi the angle. 3 "4{—2) =c2
Y sine = “Z,E = ¢sco= |- UL o 13=¢2
; 613 Jiz 3 ezUB
¢ coso> 5 i < [ag| | seco- >
3 ™ne=[=2 ol 0= R
15. Fi : = °<h<: (3-2)
. Find tw of @ wheresecd=-2and 0°< 0 <3 ’

<A |\ co=-2= 2./ |=(,0° = (86°446°
"\%i? o'=e00 B \© M
Xseep is ne O= (goP-606° ~ 3 = °
xuhruscgso vs?\ [@= 1260 d \E @= 240
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